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8.30  Water flows through a 6-in.-diameter horizontal pipe
al a rate of 2.0 ofs and a pressure drop of 4.2 psi per 100 ft of
pipe. Determine the friction factor.

For a horizontal pipe ., Ap = f% FoV*

"y =Q __2.0 i

where V== _—L,—(Z?sz- = 10.2 £

Thus P |

,cf.- 2D2p _ __ 2(5ikzivsip)
elv* (/.94~£1’?;Vf~‘{g‘£)(/ooH)(/o.:z_gi)2

= O. 03 00

.31

8.31 Water fiows in a cast-iron pipe of 200-
mm diameter at a rate of 0.10 m*/s. Determine
the friction factor for this flow.

For a D=0.200m cast iron pipe, % = Q26AM ) 4,573 (Table 8.1)

200 mm
/q/so, Q _ 0.0 m?
_ Vb 0. 92%s _ m
Re = 2=, where V=% Z o2y " 3.18%
Hen |
.82 (0:2m) 10 9.8.20 e oblai
Re = S eoiaT = $.68x10°, so from Fig.8.20 we obtain
‘ < i
f= 0.02/5
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